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SUMMATIVE ASSESSMENT -II 
fictif"Ho 'Qft~-II 

SCIENCE 

Pct~ 1'1 
Time allowed : 3 hours] 

~~:3eruZ} 
[Maximum marks: 80 

[ Jff'~ :den: 80 

General Instructions: 

(i) The question paper comprises of ffi'o sections A and B. You are to 

attempt both the sections. 
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(ii) All questions are compulsory. 

(iii) There is no over all choice. However internal choice has been 

provided in all the three questions of jive marks category. Only one 

option in such question is to be attempted. 

(iv) All questions of section A and all questions of section B are to be 

attempted separately. 

(v) Question numbers I to 4 in section A are one mark questions. These 

are to be answered in one word or one sentence. 

(vi) Question numbers 5 to 13 are two mark questions, to be answered in 

about 30 words each. 

(vii) · Question numbers 14 to 22 are three mark questions to be answered 

in about 50 words each. 

(viii) Question numbers 23 to 25 are jive mark questions, to be answered 

in about 70 words each. 

(ix) Question numbers 26 to 41 in section B are multiple choice 

questions based on practical skills. Each question is a one mark 

question. You are to select one most appropriate response out of the 

four provided to you. 

(iJ ~ >rH -w Chi c:t 7f11if, 'JfTTf 31 3:fh- 'JfTTf if if q]Zr w ~ 1 ~ cff;ff 7f11if ~ 

>rroit~f&reRg, 

(i iJ "ffifr JJN JOIR c:mf g 1 

(iii) ~ >rR-T:{;f w cn1i ~ >lTtO ;rtf ~ ~ ~-~ :dcif it rft;r ~ if >fR 

~~~W~I RJTW if31Jtf~~ ~Tfli~q;} 3Ut 

ffreRit~~~gl 
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1. 

2. 

3. 

(iv) Jmcit 'JfTTT 31 3/t-( 'JfTTT ~ ~ ~ >rRf ~ 3TI7: "'l2"{Cff-T[2(cf 'JfTTT :mmr TR 

ffmR&t! 

(v) 'JfTTT 31 ~ >IH ti&rT 1 "« 4 ff >IH T!!f)-~ :den ~ g I ·~ 3TI7: T!!f) ~ 

31~ T!!fi cncRl ff ~I 

. (vi) >IH ti&rT 5 "« 13 ~ >fHqT-qT 3icnJif;g I ~3U7:c¥TWT30-30 ~ff 

~~~ 

(vii) >IH ti&rT 14 "« 22 ~ >IH rfR-rfR 3icnT ~ g I ~ 3TI7: (?f1TW7 50-50 

~ff~~l 

(viii) >IH ti&rT 23 "« 25 ~ >IH ~-:~ 3icnT ~ g I~ 3TI7: (?f1TW7 70 ~ ff 

~~I 

(ix) 'JfTTT ~ ~ >!H 26 "« 41 ~ >!H >1'41Jifr4ct? ~ w :merrmr &~§f¥1?<41 >!H 

g I ~ >1H T!!fi 3fcn cnr ~I fW ~ ~ (Cict?flif ff "« Jmcit itcrfr T!!fi ~ 

~f¥flf4~~~ 

SECTION A 

'ql1T3t 

How many covalent bonds are there in a molecule of ethane, C2H6 ? 

What is Tyndall effect ? 

What will happen if we kill all the organisms in one trophic level? 

1 

1 
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1. 

. (iv) 31f'1Ch7 mrr 31 3fR: mrr q ~ "fM ~ ~ ~ rprct!-7[~ mrr :mmt 1R 

ffmRm1 

(v) mrr 31 ~ >rH ~ 1 ir 4 # >rH ~-~ Jicn ~ g,~ ~ ~ ~ 

3121CfT ~ Cffc1lf # ~I 

· (vi) >TH~ 5 it 13 ~JJHcft-cit:3fcnt"Etgl ~~"W7WT-30-30 ~# 

~tl 

(vii) >rH ~ 14 it 22 ~ >rH ?fR-?fR 3icif ~ gl ~ ~ "W7WT 50-50 

~#~tl 

(viii) >TH~ 23 it 25 ~JJHlff:r.r-:-lff:r.r 3icif~gl ~~"W7WT 70 ~# 

~tl 

(ix) mrr q ~ >rH 26 ir 41 ~ >rH 314JJ/f\4Cf? Cf?JJ(IC11R :m'6l'Tftfr 4§Ricnc4J >rH 

g 1 ~ >rH ~ Jicn cnr t 1 -m ~ T-TR Rlcnf4"i # ir 31f'1Ch7 ~ ~ ~ 

~Ricnf4~tf 

SECTION A 

'q'f1T 3f 

How many covalent bonds are there in a molecule of ethane, C2H6 ? 

2. What is Tyndall effect ? 

3. What will happen if we kill all the organisms in one trophic level ? 

1 

1 

1 
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4. Why, did United Nations act to control the production of chlorofluoro-

5. 

6. 

7. 

8. 

311111 

carbons (CFCs) used in refrigerators? 1 

Sl~n<:icnl .q'~ CfutfU~mn ~ (CFCs) ~ \3("qiG~ c8 R~~d enG~ m 

·~~~~~? 

(i) How do you calculate the possible valency of an element from the 

electronic configuration of its atoms ? 

(ii) Calculate the valency of an element X whose atomic number is 9. 2 

Ci) fcnm. m:cr ~ ~* ~ ~t"lct?TP!Cfl fc!Plllfl ~ ·31T'qR 11\ ~ ~ 

~'4f'S!Cfi<:11 CfiT qf{Cf)ft~ ~~~i? 

How does the electronic configuration of an atom of an element relate to its 

position in the modem periodic table ? Explain with one example. 

fcnm" rn=q ~ ~~ CfiT ~~ct?TP!Cfl fclPlll~ ~ 31T~ ~ m\UfT .q mit fcrn 
>ICfiTC{{~fu-a~i? ~ 3GI9{01 cf;T ~~1~<:11 ~ ~4$11~~ I 

State the two laws of reflection of light. 

>lCfiro ~ 4{1 C4 &i ~ Gt f.t<.r4l CfiT $ iil ~~ I 

What is meant by the dispersion of white light ? Draw a diagram to show 

dispersion of white light by the glass prism. 

m >rcfim ~ fcfpJ-qur ~ ctm wwr ~ i ? ~ ~ ~ IDU m >rcfim ~ ~~ 

c8~~~~Fa~l 
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9. Explain why the planets do not twinkle but the stars twinkle. 

B4$1~~ fcfi~CRft-;@ R:4R:41d ~(f[t R:4R:41l ~I 

10. Write any two differences between binary fission and multiple fission in a 

tabular form as observed in cells of organisms. 

~ Chi~ICfli3TI it~~~ "@:Wft fcwi~~Hl 3ft\ ~3lrft fci«Jos-il ~ ~ GT 
3F(R Rr!f@~ I 

11. Explain giVmg one example of each, the unisexual and the bisexual 

flowers. 

12. List any four characteristics of a good fuel. 

13. What are non'-renewable resources of energy? Give two examples of such 

resources. 

14. Write one chemical equation to represent each of the following types of 

reactions of organic substances : 

(i) Esterification 

(ii) · Saponification 

(iii) Substitution 

2 

2 

2 

2 

2 
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16. Draw the ray diagram and also state the position, the relative size and the 

nature of image formed by a concave mirror when the object is placed at 

the centre of curvature of the mirror. 

/ 

~ ~~.~~&13m 3fr\ ~ CfiT quf;r chlNl~ 3fr\ ~ ~ m <sHICfl\ 

R€11~~ 1 

17. Define, 'refractive index of a transparent medium.' What is its unit ? Which 

has a higher refractive index, glass or water ? 

~ 'qRq~ffm~~~ ~'cfr~ FMful~ ~~~ (lfBTCFi) qm~? 

> CfiTq 3fn:~-ij'?f fchf!Chl ~ ~ 3lf~llRWffi~? 

18. What eye defect is hypermetropia ? Describe with a ray diagram how this 

defect of vision can be corrected by using an appropriate lens. 

~~~q{~;f)f4<:~1 (<fltt1rn) ~m~itll~? ~m ciHICh\ R1R9~ -Pcn~~~ 

>r:Wl Cfi\ ~ ~ itll CfiT ~ Pfq 1\0I ~ ~ ~ ~ I 

19. (a) List two sexually transmitted diseases m each of the following 

cases: 

(i) Bacterial infections 

(ii) Viral infections 

(b) How may the spread of such diseases be prevented ? 

3 

3 

3 

3 
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(a) F'n:;p1ftf~wrnm -ij "B ~ ih m <ft -<ft ~ fi:qf{tj Urn ih -;nli R1 f@~ : 

(i). ;;rlh-it'a~ B9filiOI, 

(ii) Cltll<dl fi9fili0tl 

20. Explain with examples how the following are evidences in favour of 

evolution in organisms. 

(i) Homologous organs 

(ii) Analogous organs 

(iii) Fossils 

(i) '1,1 li'51 kl 31lT 

(ii) ~311T 

(iii) 'ci(lqf~q 

21. Explain the terms : 

(i) Speciation 

(ii) Natural selection 

"f-1W~~ cfi'IRI~: 

(i) ~~ 

( ii) Sll <tRt Ch CR"OT ('61'~";{) 
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22. Explain how equal genetic contribution of male and female parents is 

ensured in the progeny. 

23. (a) In a tabular form, differentiate between ethanol and ethanoic acid 

under the following heads : 

(i) Physical state 

-(ii) Taste 

(iii) ·NaHC03 test 

(iv) Ester test 

(b) Write a chemical reaction to show the dehydration of ethanol. 

OR 

(a) What is a soap ? Why are soaps not suitable for washing clothes 

when the water is hard ? 

(b) Explain the action of soap in removing an oily spot from a piece of 

cloth. 

(a) c:p IT<:fll( -~ -q f.n::;{ ~ntc:nl ~ ~ ~ 3fR ~~ ~ -q 3r.:<R 

~~: 

(i) ~~ 

(ii) ~ 

(iii) NaHC03 -qtfa:rur 

(iv) ~ -qtfa:rur 

3 
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(a) l1T~fJCF:rT mor i? ~ ~ 'CfiiR ~ 'tR ~ "IDU ~ ~ ~ cp:fl ~ 

~~\iffffi? 

(b) ~~~~Cf)TGJTf~W~cfiT~ W"l$11~~ I 

24. (a) If the image formed by a lens is diminished in size and erect, for all 

positions of the object, what type oflens is it? 

311111 

(b) Name the point on the· lens through which a raY. of light passes 

undeviated. 

(c) An object is placed perpendicular to the principal axis of a convex 

lens of focal length 20 em.· The distance of the object from the lens is 

30 em. Find (i) the position (ii) the magnification and (iii) the nature 

of the image formed. 

OR 

(a) One-half of a convex lens is covered with a black paper. Will such a 

lens produce an image of the complete object ? Support your answer 

with a ray diagram. 

(b) An object 5 em high is held 25 em away from a converging lens of 

focal length 10 em. 

(i) Draw the ray diagram and 

(ii) Calculate the position and size of the image formed. 

(iii) What is the nature of the image? 

10 
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31/111 

(a) ~ ~ ~ CfiT ~ ~ IDU ~ TPn SIRIR!ki, ~ ~ ~ ~ ~ 

Writ 31fCfiR -q t:R:T s31T 3l'R mm it <IT~~ fcnB ~ CfiT irrr ? 

(b) ~ ~ "3itR CfiT -Q:m ~ ~ ~ ~ ~ cnBT >I'Cfim ~ CfiT 119-l 

3=1~'i4R1C1 ~it I 

(c) ~ ~ 20 fn:ft ~ ~ "3"m1 "ffi:r ~ ~ 318.1 1R ~ ~ cnT ~k1C4(L 00 

TPn% 1 ~ ~ fu1 ~ ~ 30 Wft% 1 ~ ch1N=!~ ~ >1R1Rik1 

(i) ~w.mr 

( ii) CfiT 31TCi¢f 

(iii) ~~ 

(a) ~ ~ "ffi:r ~ 311~ ~ cnT CfiTB Cfi"TlT)lf ~ ~ ~ TPn %I Cfm ~ ~ 

~ ~ CfiT >!RIR!ki iHI~JII? ~ ~ m ~ cg ~ Sffi: ~ ~ 

ch)N=!~ I 

(b) ~ 5 fn:ft~~cnl 10 Wft~~~ ~~~ 25 Wft~~ 

1R00%1~~~fuit: 

(i) ~~ffi~l 

(ii) ~ >IRIR!ki CfiT ~ 3fu: 3lTCfi"R qf{Cf1R1C1 chlM~ I 

(iii) SiRIRiki ~~ctm~? 
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25. (a) Draw a diagram of the longitudinal section of a flower and label on 

it sepal, petal, ovary and stigma. 

311111 

(b) Write the names of male and female reproductive parts of a 

flower. 

OR 

(a) What is fragmentation in organisms? Name a multicellular organism 

which reproduces by this method. 

(b) What is regeneration in organism ? Describe regeneration in Planaria 

with the help of a suitable diagram. 

(a) ~ "'Ff cfiT ~ CfiTZ CfiT m ~ Cfi\ ~ 11\ ~ ~ (sepal), ~ 

(~ petal), ~· (ovary) 3ffi qRfCfil!l (stigma) CfiT "11Aifcnd 

cfi)~~ I 

(a) ~ -ij ~4W'S"1 CFIT mm i? ~ ii:§Cf>ll5lcfil""l ~ CfiT ;rn:r ~ ~ 314cis"1 

'00 ~ CfffiTI -m 1 

(b) ~ -ij Ti'Jf"1'1 CFIT mm i? ~ m cfiT Bi:!l""ldl ~ c#l~ft""ll (Planaria) -ij 

T! '5f.1"1 CfiT cruH ch1 ~ 0\ I 

12 
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SECTIONB 

"fTlT ~ 

26. To find the focal length of a concave mirror Rahul focuses a distant object 

with this mirror. The chosen object should be: 

(1) a tree 

(2) a building 

(3) a window 

(4) the sun 

"Q,Cfi ~ G'tuT cRt~~~ Cfi8 ~ m ~ ~ ~ ~ mu "Q,Cfi ~ ~ ~ 

cn1 \"hlCflma m-r 1 ~ ~ ~ cn1 ~ ~ = 

( 1) "Q,Cfi ~~ 

(2) ~lfcl)R 

( 3) "Q,Cfi fut ~cfil 

(4) ~ 

27. For finding the focal length of a convex lens by obtaining the image of a 

distant object, one should use as the object: 

( 1) a well lit distant tree 

(2) window grill in the class room 

(3) any distant tree 

( 4) a lighted candle kept at the other end of the table 

1 

1 
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~~~~Cfil Slffifdlkl ~Cf)\~~"ffi:rc€t~~~~ ~ ~ ~ 

~fcnBct)~~~? 

( 1) ~ "SICFiR >rcfrqr~~ ct) 

(2) Cfia.TI CfilR c€t Rsl<$ch'l ~ ~ (ftR;r) CfiT 

(3) ~ m-~~~a:r'CfiT 

(4) ~~~~l:Roo>f(ftca~Cfi'r 

28. Mohan obtained a sharp inverted image of a distant tree on the screen 

placed behind the lens. He then moved the screen and tried to look through 

the lens in the direction of the object. He would see : 

(1) a blurred image on the wall of the laboratory. 

(2) an erect image of the tree on the lens. 

(3) no image as the screen has been removed. 

(4) an inverted image of the tree at the focus of the lens. 

~ "ffi:r ~ "tfW 00 ~ 1:R ~ ~ ~ ~ ~ ~a:f CfiT ~ (fum Slfdfdlk! >r11:(f 

M I ~ ~ ~ CfiT ~ en\ ~ c€1- ~ "ffi:r ~ ~ ~ cnr w:m1 fcfim I Cf5 

~: 

( 1) Slli'p r:~ 11<.11 c€1- tflcm: 1:R ~ ~~ m Sl Rl fdlkl 1 

(2) "ffif 1R ~a:r cnr mm Sl R1 f¢1 14 1 

(3) ~~Cfi't~"fum-rpni, ~ Slmfi!kl m~, 

(4) "ffif~~~l:R~a:fcnf~ SIMFd!k! I 
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· 29. Four students A, B, C and D traced the paths of incident ray and the 

emergent ray by fixing pins P and Q for incident ray and pins Rand S for 

emergent ray for a ray of light passing through a glass slab. 1 

p p 

Student A Student B 

p 

Student D 

The correct emergent ray was traced by the student : 

(1) A 

(2) B 

(3) c 
.. (4) D 
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"'qR~, A, B, C ~ D~~e@~-ij~ ~ ~f;pfu~~-qw·ftR P 

~ Q "Q,Cf R ~ S ~flllCfi{ f.:n::;r ~ ~ ~ ~ fenir I · 

p p 

~A ~B 

p 

~D 

<Wt ~ ~ 1:f~OOa~ cm?IT UT5f ~: 

(1) A· 

(2) B 

(3) c 
(4) D 

31/1/1 16 
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~. Rahim recorded the following sets of observations while tracing the path of 

a ray of light passing through a rectangular glass slab for different angles of 

incidence. 

S.No. 
Angle of Angle of Angle of 
incidence refraction emergence 

I 45° 41° 45° 

II 40° 38° 38° 

III 45° 41° 40° 

IV 41° 45° 41° 

The correct observation is recorded at serial number: 

(1) I 

(2) II 

(3) III 

(4) IV 

~ >TCfim fcfKuT ~ fcrf~ 3lTtRR" cn1uiT 1R ~ ~ I<!Ol (11Cfll\ Cfl j+:fj;q ~ ~ ~ ~ ~ 

m~~~ ~Cl~ICfl'"i fur@ 1 

~~ 3lTtRR" cnTur ~cnlur Frffitcn)ur 

I 45° 41° 45° 

II 40° 38° 38° 

III 45° 41° 40° 

IV 41° 45° 41° 

(1) Iq>T 

(2) IIq>T 

( 3) III 'CflT 

(4) IVq>T 

1 
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31. The colour of an· aqueous solution of zinc sulphate as observed in the 

laboratory is : 

(1) Green 

(2) Yellow 

(3) Blue 

(4) Colourless 

~'!:j~)J(!((((?l('P;Fro~WJT ~~~~~ Rlt1ll""l CfiTfr"riRrr~: 

(1) m 
(2) "CfR1T 

(3) -;ftffi 

(4) ~ 

32. To show that ziric is a more active metal than copper, the correct procedure 

is to: 

( 1) add dilute nitric acid on strips of both the metals. 

(2) observe transmission of heat through strips of zinc and copper. 

(3) prepare solution of zinc sulphate and hang strip of copper into it. 

( 4) prepare solution of copper sulphate and hang strip of zinc into it. 

~ CfiliR-« ~ Tho41!<0t1 ~ ~' ~ fugR c€r ~ ~ Wfr: 

(1) Gt.ft ~*~~lR~"il~f{Cfi ~~I 

(2) ~ 3fR CfiiiR ~ ~ -ij "« ~ CfiT ~~I 

(3) ~~CfiT~ <iHICfi{~~cfit11\fi t12:CfiHI I 

(4) ~~CfiT~ itHICfi{~~~W <12:CfiHII 
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13. Acetic acid smells like : 1 

(1) a banana 

(2) vmegar 

(3) an orange 

(4) a lemon 

~41 R:Ch ~ cfiT Tfr'fl miD~ : 

(1) ~~ 

(2) ~~ 

(3) ~~ 

(4) ~~ 

:4. Acetic acid solution turns : 1 

(1) blue litmus red 

(2) red litmus blue 

(3) blue litmus colourless 

(4) red litmus colourless 

~«<R:Ch~ ~(14'"1 Cfi\ ~ ~ : 

(1) ~ R1c:4fl Ch1 "(11(1" 

(2) ~ R1v=tt~Ch1~ 

(3) ~ R1c:4fl Ch1 i:1tR 

(4) ~ R1c:4fl Cb1 i:1tR 

l/111 19 [P.T.O. 
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35. On adding NaHC03 to acetic acid, a gas is evolved which turns lime water 

. milky due to the formation of : 

(1) Calcium bicarbonate 

(2) Calcium hydroxide 

(3) Calcium carbonate 

(4) Calcium acetate 

Q;J\flq; ~ -ij NaHC03 ~ 1R ~ fm f.:lq;(?ld\ ~ ~ .~. ~ -qr;fi CfiT ~ cg 

mfi~ICfiRUTmcrr~~: 

( 1) €fi fR:i~ 4 ·~ I ~q; I ;sfi~ c CfiT 

(2) %iFRi'!l4 t51~~1Cffii~:S CfiT 

(3) €fiFRi'!l'"l Cf)liSll~c cnr 

( 4) €fifR:i'!l'"l ~ CfiT 

36. A yeast cell in which budding occurs was seen to have : 

(1) one bud cell 

(2) two bud cell 

(3) three bud cell 

(4) . a chain ofbud cells 

311111 20 
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~Tf!llfcfi~~ (~) cn1~1cnl (~) ~~ (~) ~wrmmt "&ffi 

t: 

37. A student was giVen two permanent slides, one of binary fission in 

amoeba and other of budding in yeast. He was asked to identify any one 

difference in the nucleus of the two. One such difference, he identified 

correctly was : 

( 1) Presence of one nucleus in amoeba, two in yeast cell and one in 

.bud. 

(2) Presence of two nuclei in centrally constricted amoeba, one in yeast 

cell and one in its bud. 

(3) Presence of two distant nuclei in amoeba, one in yeast cell and two 

in bud. 

( 4) Presence of a single nucleus each in amoeba, yeast cell and its 

attached bud. 

1 

31/111 21 [P.T.O. 

evid
ya

rth
i.in

Educational Material Downloaded from http://www.evidyarthi.in/ 
Get CBSE Notes, Video Tutorials, Test Papers & Sample Papers



~19Bfcn1G1~~~~~~~~~~~cfrrafR~~ 

("&lfu:) ~ ~ (cnffi) ~ cfil1 ~ cnm TmT fcn ~-~ CF; .. ~Chl ~ ~ ~ f~ 

~I ~ IDU ~ lFfr ~ ~ fmrnr ?.fi: 

(1) ~~~~~~, 3fu:wm.rr-ij"GT Cf; .. ~6h13ft\~~-e61 

~I 

(2) ~~~~~G)Cfi .. ~Ehlcfir~~~W1-ij~~3l'R 

~~~~~cfrr~~l 

(3) ~ ~ m ~ 6h.-s=:6hl efiT ~' ~ iR1 ~ ~ 3ft\~~ G) Ci:;.-~enl 

cfiT ~?.ffu I 

(4) ~-~~~cfil~,~m.rr-3fR~~~~~I 

38. Binary fission is observed in which one of the following figures ? 

(1) A 

(2) B 

(3) c 
(4) D 

(B) 

/~:.,·~·,_ 
/ . 0 : 

(
. ·.: . c ,. 0 0 . : ...... 

\~····ooo·· 
·· •.. · ... 0 . :. ·• -· .· . ~ ' .... :- .· ... 

(D) 
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,~ r 
(A) 

(C) {D) 

(1) A 

(2) B 

(3) c 
(4) D 

.39. To detennine the percentage of water absorbed by raisins, raisins are 

31/111 

. soaked in water for : 

(1) 30 se.conds 

(2) 10minutes 

(3) 2 to3 hours 

(4) 24 hours 

fch~tfll~t·~GR1Wtr mfula~~ ~RI~Iddl BmRaCfiG~fffi~·$flcfu11Rt* 

~T~i: 

(1) 30~~fffi 

(2) 1 0 ftRG. ~ fffi 

(3) 2~ 3eR~tffi 

(4) 24 m~fffi 

1 
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40. Raisins are wiped off gently before final weighing with help of: 1 

(1} a filter paper 

(2) a cotton piece 

(3) a cloth piece 

(4) a polythene piece 

~ ~ ~ ~ ~ fch~1fipn~ ~ cnl" mt ~ 11tm \JfTffi ~ = 

(1) ~~l:Bf~ 

(2) ~~~~~ 

(3) ~~~~~ 

(4) ~~~~ 

41. The step( s) necessary for determining the percentage of water absorbed by 

raisins is/ are : 1 

(1) Raisins should be completely immersed in water 

(2) Raisins should be soaked in water for sufficient time 

(3) Gently wipe dry the soaked raisins 

(4) All ofthe above steps 

fch~1fil~1 ~ ~w ftrfula ~ S1f8~1aa1 "Rmr&cn8~ -qc:~: 

(1) fch~lfil~l~~cnl~~~-q~ 

(2) fch~lfil~l ~~cnl~~~#ritLff.ft-ij~ 

(3) ~-ijm1)~cn)mt~~cn\~HI 

( 4) 3q(hh ~ 11G 
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